H & 0l & AHS B Ml A

SA: XS
M D2 =3 9 oF
oHol: AIITHE L)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
VNN 19,690,207 18,133,675 1,556,532
= 12,956,702
[ 1,862,964
AltI 2,313,867
-l 2,556,674
s 54 2 o 2,478,511 1,965,184 513,327
= 57,600
[ 82,050
AlH] 773,694
Tl 1,565,167
AR 1,893,3% 1,146,088 747,307
= 82,050
Alt] 733,374
Tl 1,077,971
el XJHEH 2 28,050 6,900 21,150
201 er2 3| 27,600 6.450 21,150
01 At2t2lt] 24,000 4,650 19,350
OgTelXgdye g8 & 29
2,000,000& 2,000
OFgodegdst 2208 28 & g8
20,000,000 20,000
Ogxtelotoles M 2,000,000 2,000
2 35244l 3,600 1,800 1,800
OZXMHIA AL 300,000 122 3,600
x| 450 450

NEESSI=EES 450 450
A

500, 00021 %90% 450
ATt 2 11,000 11,000 0
201 Ler2at| 11,000 11,000
03 At2 | 11,000 11,000
OYReIetRsl 2 11,000,00024%13] 11,000
DEOE MRS TIIX K 50,000 50,000 0
308 XX SIS 01 50,000 50,000
13 B 2S0ICHEH 2 A E RIS AL 50,000 50,000
ONBAR DNEOHE FHAXIR
50,000, 0002 50,000
2Za2ANY =3 1,024,920 383,750 641,170
EI 212,460
24| 812,460
401 AIEHI L2 0b] 1,024,920 383,750 641,170
AlB] 212,460

- 812,460




A LRSS KL
M D2 =3 9 oF
el A EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
01 Al&HI 1,024,920 383,750 641,170
OAftote 382=2 600,000,000 600,000
Ooss2=2 424,920,000 424,920
AlHI 212,460
-l 212,460
NEZSSH LR 2IAIS (M EALY) 669,025 581,708 87,317
Al 501,769
Tl 167,256
401 Al HIZL S 0HYI 669,025 581,708 87,317
Alt] 501,769
Tl 167,256
01 Al&H| 669,025 581,708 87,317
OXNSSSH LAt
669,025,000& 669,025
AltI 501,769
Tl 167,256
ARIEDIE | 109,400 109,400 0
[ 82,050
AltI 19,145
-l 8,205
307 gl2to| & 109,400 109,400 0
[ 82,050
AlHI 19,145
Tl 8,205
02 2B YA E X 109,400 109,400 0
OARIZD1Y LRtelEE XA
109,400,000 109,400
[ 82,050
AlH] 19,145
T4l 8,205
ARIEDIY - Ot201g8 293t 1,000 3,330 72,330
201 er23| 1,000 2,700 1,700
01 AtR2t2|HI 1,000 2,700 A1,700
OArRIH(DE)I1Y 32 & 22 XI¥
1,000,000& 1,000
FEXEAA 585,116 789,09 203,980
= 57,600
AltI 40,320
-l 487,1%6
s 28 165,235 163,568 1,667
101 ©1AH| 103,379 100, 112 3,267
04 JIZtN2Z2 XS E+ 103,379 100, 112 3,267
OFE S JIZtHNZ22 At 103,379




fA: LXtel=S K
M D2 =3 9 oF
ol HEXAAE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
QIAH| (FRXEE)
88,2723 «6H 282 6 88,979
2= 300,000 x6H 6 10,800
SEZOHI 300,000& +6& 1,800
SXZIE 300,000& +6& 1,800
201 er23 | 61,856 63,456 21,600
01 At2teltl 19,640 21,240 21,600
OGN 2 2 5,000,000& 5,000
O=2gE=s S 7
200,000 #2042+ 123 4,800
O&F=) & 3IIEE)| Ix=
200,000 x204 2% 123 4,800
ORQUBHIAIAY ==
185,000& #2JH 2+ 123 4,440
oA #¢ 300,000 *2JH 4~ 600
02 S3=gHl 42,216 42,216 0
oystacEE 5 Bl
615,000 x2J4 2% 123 14,760
O®Jl= 615,000 x2)4 A+ 128 14,760
OQEYSIEE S 23
275,000 #2042+ 123 6,600
OAIEEHIR X 24 4,080,000 4,080
OZHOIXIF X E==H] 168,000« 12& 2,016
1RSI XJHH 2SN (SHETRH) 50,000 50,000 0
307 lztol & 50,000 50,000
02 2IZHB A E & 50,000 50,000
O1rExlg N2dH 28X
50,000,000& 50,000
34 X3 g4zt 50,240 3,000 47,240
201 er=2 3| 19,340 2,100 17,240
01 AtR2t2lHl 17,840 600 17,240
OFEEHM S22 MH S 600,000 600
OAEEY XFE Rgt etk BE X2
ME AL (FAALY) 17,240,000 17,240
03 Ar=EHI 1,500 1,500 0
oFdel g 29 1,500,000 1,500
203 HR=4AY] 900 900
03 A=A PR FA| 900 900
OFH X g4 1,000, 0002 *90% 900
307 21201 & 30,000 30,000
02 LB AANHEE 30,000 30,000
O Itotsd MES X2 AN (=BIE0
Oll &) 30,000,000 30,000
34 N=28 Sz NE 18,000 18,000 0




2A: dXxtels Xt
Hu: D2 =X o oFF
&2l FEXIEAE EER=E)
SA - BE - GI(30) - NIRAY - BES A SimE==t
2Bt A| 1,000 1,000
ASR2elt] 1,000 1,000
Os2s & 1,000,000& 1,000
301 LPENZ 17,000 17,000
02 At 2 A , KITH&) 17,000 17,000
(OIN == 17,000,000 17,000
HEENM Al £ 241,121 549,328 A308,207
= 57,600
AlHI 40,320
el 143,201
AUs 241,121 549,328 308,207
= 57,600
AltI 40,320
sl 143,201
01 At2lE2 (EmEEIUED 241,121 549,328 A308,207
(OF]<!
241,121,000& 241,121
= 57,600
Al 40,320
-4 143,201
HAE Y E 9,520 5,200 4,320
e 4,000 400 3,600
AR 3,600 0 3,600
OFHZZY Nz X2 A (F=2IE0 0fl AFALRE)
3,600,000 3,600
03 At2GH] 400 400 0
OFUUHERD 85213l 400,000 400
301 LetEAEZ 5,520 4,800 720
11 HALAHIXIE 3 5,520 4,800 720
OFUUERD 512142
20,0002 *23H 12| 5,520
Fd4E €2 Xz XH 41,000 0 41,000
201 L2 | 1,000 0 1,000
01 At 22|l 1,000 0 1,000
O M& = 1,000,000& 1,000
301 LBENF 40,000 0 40,000
02 MBI B2 (HUAS, NLTHEA) 40,000 0 40,000
OE2XI=hHl XI& 40,000,000& 40,000
HE HYEEAH| KA (FOUE0 0 AFALY ) 10,000 0 10,000
201 Ler2| 1,000 0 1,000
01 Ar22eltl 1,000 0 1,000
Os2s8 M& 3 1,000,000& 1,000
301 LEBEF 9,000 0 9,000




A LXtel=X
Hu: I8 =X Y O4F
el FEXIEAY (SH9 H2)
SA - BE - 9(3H) - KA - BES Ol &t G o B2
02 AISI 262 (FAAS, RYTHR) 9,000 0 9,000
OsHEZEdd X& 9,000,000& 9,000
MASE NEolg =4 17,095,075 16,088,584 1,006,491
= 12,899,102
s 1,780,914
Al 1,540,173
-t 874,886
ALY =& 12,273,015 11,804,530 468,485
= 10,792,409
s 44,068
Al 1,005,680
el 430,858
22 11,405,935 10,959,670 446,265
= 10,265,342
Al 798,415
el 342,178
201 ZEH2 & 20,000 20,000 0
= 18,000
Al 1,400
-t 600
01 AFS-2t2ltl 20,000 20,000 0
OXr&Z 2 Atgd] 20,000,000& 20,000
= 18,000
Al 1,400
| 600
301 LEtEEZ 11,385,935 10,939,670 446,265
= 10,247,342
Al 797,015
=t 341,578
01 MSIEEHEGIZ2(2REXZTHRA) 11,385,935 10,939,670 446,265
oxgz2=z 11,385,935,000& 11,385,935
= 10,247,342
Al 797,015
el 341,578
KNG iedye 29 753,492 716,786 36,706
= 527,067
Al 158,119
el 68,306
203 PR =&H| 540 540
03 AR =XHE=AH| 540 540
OXIATEHE i2zz
600, 0002 *90% 540
307 QI2HOl A 752,952 716,246 36,706




2A:
X XH -
o e

=aak

2 Atel =Kot

SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 527,067
AltI 188,119
-l 67,766
05 git?(& = 752,952 716,246 36,706
ONANEHE 2Y X2
752,952,000 752,952
= 527,067
AltI 158,119
-l 67,766
AHeAtedl2tel 62,954 61,415 1,539
= 44,068
AltI 13,222
-l 5,664
307 @120l & 62,954 61,415 1,539
[ 44,068
AlHI 13,222
Tl 5,664
05 2I2tRIE =S 62,954 61,415 1,539
OXHE Ateil2tel 62,954,000 62,954
[ 44,068
AlH] 13,222
T4l 5,664
NS tgde RSk~ 50,634 66,659 216,025
AlHI 35,924
-l 14,710
307 @120l & 50,634 66,659 16,025
AlHI 35,924
Tl 14,710
05 elt?(& = 50,634 66,659 16,025
OXATEHE MU=+
50,634,000 50,634
AlH] 35,924
Tl 14,710
ARIMEIA - THHE S XA 4,822,060 4,284,054 538,006
= 2,106,693
= 1,736,846
AlHI 534,493
-l 444,028
IS S E Ml A AL 420,259 309,774 110,485
[ 294,181
AltI 63,039
Tl 63,039
307 gl2to| & 420,259 300,774 110,485




2A:

X XH -
o=

2 Atel =Kot

HASE Kelle x4
Sl ABIAHIA - RAES XIE (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 294,181
AltI 63,039
-l 63,039
05 git?(& = 420,259 309,774 110,485
OIARIE 2 I A ALY
420,259,000 420,259
= 294,181
AltI 63,039
-l 63,039
KSAAS MHIASETANG (K ZHL S HIR ) 2,008,382 2,083,923 ANT5,541
= 1,405,868
AltI 301,257
-l 301,257
307 @120l & 2,008,382 2,083,923 ANT5,541
[ 1,405,868
AlHI 301,257
Tl 301,257
05 2I2tRIE =S 2,008,382 2,083,923 ANT5,541
OXIGIHEE B2 2,008,382,000& 2,008,382
[ 1,405,868
AlH] 301,257
T4l 301,257
NAMBIMEIAETIALY 2 4,300 4,300 0
[ 3,010
AlH] 645
Tl 645
201 er23 | 4,300 4,300 0
= 3,010
Al 645
Tl 645
01 At2t2lt] 4,300 4,300 0
OXIS At MBI AE ALY 2
4,300,000 4,300
= 3,010
Altl 645
Tl 645
FE0SHZ A2 A 48,267 57,959 29,692
= 33,787
Albl 7,240
Tl 7,240
307 212+01& 48,267 57,959 29,692
= 33,787
AltI 7,240




2A:

X ZH -
o=

2 Atel =Kot

NASS Mg =4
St AlRIAEIA - T A I (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 7,240
05 212t =S 48,267 57,959 29,692
OFEISAL AL 48,267 ,000& 48,267
[ 33,787
AlHI 7,240
Tl 7,240
ZesaEAETSHAEF2S N 2,340,852 1,828,098 512,754
= 2,106,693
AlHI 162,312
Tl 71,847
307 elztol & 2,340,852 1,828,008 512,754
= 2,106,693
Alt] 162,312
Tl 71,847
05 2ItRIE = 2,340,852 1,828,098 512,754
O2zssUersSidE-28id 2,340,852
s|FINSSH | 22,414,000& 22,414
= 20,099
Alt] 1,621
Tl 694
SIS 40,000,000& 40,000
= 36,000
Alt] 2,800
Tl 1,200
Heoiss#d 41,250,000& 41,250
= 37,125
Alt] 2,888
Tl 1,237
- HHI Y| SSE 23,683,000& 23,683
= 21,315
Al 1,658
Tl 710
HEMSAH 180,000,000 180,000
= 162,000
Al 12,600
Tl 5,400
SIS NF A | 257,117 ,000& 257,117
= 231,405
Altl 17,998
Tl 7,714
SIS MFAE 86,589,000& 86,589
= 77,930
AlH] 6,061




2A:

X XH -
o=

2 Atel =Kot

NASS Mg =4
St AlRIAEIA - T A I (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 2,598
HEAWL X SHZH XA 21018H)
1,405,941,000& 1,405,941
= 1,265,347
AltI 96,816
-l 43,778
FEUL =R (R ?I=)
283,858,000 283,858
= 255,472
AltI 19,870
-l 8,516
A 2IFHI(L RS 116,621 79,907 36,714
el 2| 73,353 36,639 36,714
el 2dd| 73,353 36,639 36,714
101 @124H| 72,633 36,39 36,234
02 JIEtAE = 35,147 0 35,147
OXAEA AIRHIEHAIIHI(01=)(18) 36,147
A3 50,039,000& *35/40 A1 2H+50% 21,893
CARZRI2RSE
9, 1853 *30Al 2t 12 3,307
IEE 140,000& * 12 1,680
- Mg 24 175,000 +35/40A1 24+ 12 1,838
- ZAHG A 140,000 ~ 128 1,680
- el s 50,0002 x35/40A1 2+ 123 525
- G2 A
1,825,000 *84%+86%1/30+1/7+84AI 2 581
SARsY
1,825, 0002 *84%+5%+40/35A1 2+ 12& 1,052
HSa0i2 2,961,000& *35/40A1 2+ 2,591
03 SR (RINHA) 222+ 37,486 36,194 2,292
OZRHZZ (ALY A B 37,486
lEs 2,425,660« 1H* 123 29,108
gita0s 3,248,260 x38% 1,235
- FolS 4| 7,143
-gHZAH| 140,000« 12& 1,680
-SESIt| 2,425,660 «80% 1,941
-ESE 140,000& * 122 1,680
PN = S
13,5423 <BAI 2H 17 1,842
202 04| 720 240 480
01 =LHO LI 720 240 480
S22 =L 60,0002 * 12 720
=3l 43,268 43,268
Jl=23H] 43,268 43,268 0




fA: LXtel=S K
M BNSAAL| (LRI D)
=l Jl=3H| (Cte: M
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 15,368 15,368
01 At2teltl 10,368 10,368
OFAEE+SY 5,184,000 5,184
OJlzge-d3gtl 5,184,000& 5,184
02 S3=gHl 5,000 5,000 0
o=sEz 5,000
aptes 5002 +6,000S 3,000
Soed 2,500 +800S 2,000
202 04l 25,200 25,200
01 =LHOHI 25,200 25,200
OJl2g =80l
280,000 «15E«6& 25,200
203 =4l 2,700 2,700
M FA2ELRFAI 2,700 2,700
ORKNSgERF=AHI 3,000,000 *90% 2,700




